Nick Sitarski

ECE 473

Professor Shaout

Homework 1

1-27-02

1.1 
From Page 6
a)
1 - Processor

2 - Processor

b)
1 - RAM, ROM, I/O



2 - Processor

c)
1 – Processor

2 - Processor

d)
1- Processor

2 – I/O, Ram

1.4

a)
$F032
b)
$F002
c)
6
d)
1
-
FETCH DECODE $8D FROM $F002

2-5
-
EXECUTE INSTRUCTION

6
-
STORE RESULT 

1.5


a)
FETCH INSTRUCTION FROM $F000 WITH INDEXED 


ADDRESSING GET INFORMATION FROM $0003


b)
EXECUTE INSTRUCTION


c)
EXECUTE INSTRUCTION


d)
EXECUTE INSTRUCTION
1.8

REGA

REGB

REGX

REGY

SP

ORIG

$55

$66

$A5B6

$A1B2

$00FF
PSHA

$55

$66

$A5B6

$A1B2

$00FE
PSHX

$55

$66

$A5B6

$A1B2

$00FC
PSHY

$55

$66

$A5B6

$A1B2

$00FA
PULB

$55

$A1

$A5B6

$A1B2

$00FB
PULA

$B2

$A1

$A5B6

$A1B2

$00FC
PULX

$B2

$A1

$A5B6

$A1B2

$00FE


PULA

$55

$A1

$A5B6

$A1B2

$00FF
1.14
TO MOVE FROM MEM TO PROCESSOR REG


LDAA / LDAB / LDX / LDY / LDD $MEM ADDRESS


TO MOVE FROM PROCESSOR REG TO MEM


STAA / STAB / STX / STY / STD
$MEM ADDRESS

1.18
TO CONTROL THE BI BIDIRECTIONAL PORTS ON OUR COMPUTER YOU MUST CHANGE THE DATA DIRECTION REGISTER FOR THE PORT THAT YOU ARE TRYING TO USE, 1 IS AN OUTPUT AND 0 IS AN INPUT
1.22


REGA

REGB

C





LSLA

$94



1


LSRA

$65



0


ASRA

$E5



0


ASLA

$94



1

RORA

$65



0

ROLA

$94



1

LSRD

$65

$21

1



ASLD

$94

$86

1
SUPLEMENTAL PROBLEM

A)
IOH/IIH = 16/.8 = 20,   I0L/IIL = 60/1 = 60

THE OUTPUT COULD DRIVE 20 INPUTS AT WORST CASE CONDITIONS

      
B)


                          .8mA    
                                       
                                       .8mA                                 
                                       .8mA                        





  .8mA    

C)





    1mA
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OUTPUT








INPUT





INPUT





INPUT





INPUT





INPUT





INPUT





INPUT





INPUT








OUTPUT











